0% R 5 EHAE

0z RKHHEHE2 - 4

1. ol2®TIEFLIHESSELLD,

(1) — 10 4+ 7 = 16

(2) ~ 1 =16 HFY S

@ 206 = |= 8 BHBFY 21
4 30 - |=9 =23

® ( J+107 ) =11 =11

6 7 x| |+ 5 =425
(1) 180 x 5 + 180 x| |= 2520
8 42 x30 - 42 x| |= 420

RO 2 5528 NU v
http://drill. para—gallery. com/

0% R 5 FHE2



0% K % FHE 0% 3K 2 FHE2

EA
DIZHTIFEIREEEELLS,
M| [— 10+ 7 = 16
— 10 = 16 — 7
= 9 +10= 19
@ |+ 7 =16HEY 5
=16x 7 + 5
= 117
3 205 = |= 8 HFEY 21
=( 205 -21) =8
= 23
@ 30 -] |+ 9 =23
=( 3 -23) x 9

® ( [+107 )+ 1 11

=11 x 11 — 107
= 14
6) 1 x + 5 =425
=( 425 - 5) =17
= 60
(1) 180 x 5 + 180 x = 2520
= 2520 =180 - 5
= 9
8 42 x 30 - 42 x| |= 420
= 30 - 420 =+ 42
= 20

RO 2 5528 NU v
http://drill. para—gallery. com/ 2



